
















LESSON – 1 MY body 

WORKSHEET 

SUB-EVS 

Q-1 Fill in the blanks :-  

1) ------------- help us to keep our body parts strong and flexible . 

2) Playing ----------- games is a form of an exercise. 

3) We always eat nutrition and-------- food. 

4) A correct --------- make us look smart. 

5) We should drink lots of fresh and  ------------- water. 

Q-2 Give one word for the followings:- 

1) The parts which are inside of our body ----------- 

2) It help us to hear voices and sounds -------- 

3) Our body works like a ---------. 

4) The framework of our body is made up of bones and------------------. 

 

 

 

 

 

 

 

 

 

 Clean , fresh 

,posture,  yoga, 

outdoor 



Lesson – 2 Food we Eat  

WORKSHEET 

Sub:- EVS 

Q1. Fill in the blanks 

1. Take _________ cooked food. 

2. Water helps in ________ of food. 

3. Do not waste ________. 

4. Water _________ waste form the body. 

5. People who eat eggs and meet are__________. 

Q2. Match the food with their taste 

 

   

 

Sweet                                                   salty                                                       Bitter 

 

 

 

 

 



 

Lesson- 3 Clothes we Wear 

WORKSHEET 

 A. Fill in the blanks using correct option: 

1. We wear -------------- clothes in winter. 

a. nylon              b.  woolen        c. rayon    d. cotton  

2. Silk is obtained from -------------- . 

a. roundworm     b. tapeworm      c. earthworm      d. silkworm 

3. We get wool from ------------. 

a. sheep            b. monkey            c. cow           d. elephant 

4. Clothes protect us from -------------. 

a. cold     b. heat      c. insects      d. all of the above 

5. -------------- is worn in the rainy seasons. 

a. Raincoat     b. Belt       c. Frock     d. Cap 

B. State True/False 

1. We get silk from an earthworm.                                (True/False) 

2. We should wear dirty clothes .                                   (True/False) 

3. Cotton cloth absorbs sweat.                                       (True/False) 

4.Raincoat is needed in the rainy season.                  (True/False) 

5. Cocoon is part of the cotton plant.                         (True/False)  

 

















ikB&1 gWlrs jguk 

dk;Z&if=dk 

iz&1 leku vFkZ okys “kCn ij xksyk     yxkvks& 

d& Qwy & dyh         iq’Ik         dey 

[k& i{kh & dcwrj        ia[k         iaNh 

Xk& pank & pkWn          fcanh       pkWnuh 

iz &2 dfork dh iafDr;kW iwjh djksa& 

ns[kks Qwyksa &&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&& cgukA 

iz&3 “kCnksa ds vFkZ fy[kks& 

d& Mksyks&&&&&& 

[k& ok.kh &&&&&&& 

Xk & egduk &&&&&& 

iz&4 bu “kCnksa dks myVdj fy[kks& 

d& ukp &&&&&&&          [k& jk[kh &&&&& 

x& phuh &&&&&&            ?k& cts &&&&&& 

iz&5 fuEufyf[kr iz”uksa ds mRrj nks& 

d& cPpksa dks dSlh cksyh cksyuh pkfg,\ 

m& 

[k & dfo cPpksa ls D;k djus dks dgrs gSa\s 

 

 



ikB & 2 nks lgsfy;kW 

dk;Z&if=dk 

iz&1 lgh mRrj ds lkeus(  ) dk fu”kku yxkb,A 

d & :ik ds ia[k dSls Fks \ 

     lqugjs          :igys            pedhys 

[k & cMk cxhpk dgkW Fkk \ 

     Uknh ds ikj          unh ds chp         unh ds fdukjs  

x & caVh us lksuk dsk fdles can fd;k \ 

     tkyh esa        eqVBh esa         fMCcs esa  

iz & 2 lgh “kCn fy[kdj okD; iwjs djksA 

     (NViVk ] mnkl ] e/kqefD[k;kW , lgsfy;kW) 

d & :ik ds fcuk lksuk &&&&&& FkhA 

[k & &&&&&&&& Qwyksa ls jl cVksj jgh FkhA 

Xk & tkyh ds Hkhrj lksuk &&&&&& jgh Fkh A 

?k & lksuk vkSj :ik iDdh &&&&&&&& FkhA 

iz & 3 i<ks]le>ks vkSj fy[kksA 

d & lgsyh &  lgsfy;kW 

[k & eNyh &  &&&&&&& 

Xk &  e/kqeD[kh &  &&&&&&& 

?k &  frryh &  &&&&&&&& 

M &  jkuh &  &&&&&&& 

iz & 4 myVs vFkZ okys “kCnksa dks js[kk [khapdj feykvks& 



d & “kke                      ihNs 

[k & ehBk                      >wB 

Xk & Hkhrj                     mnkl 

?k & [kq”k                      lqcg 

M & lp                      dMok 

Pk & vkxs                      ckgj                          

 

  

O;kdj.k & o.kZ 

dk;Z&if=dk 

iz&1 lgh vFkok xyr dk fu”kku yxkb,& 

d& fgUnh esa ckjg (12) Loj gksrs gSA 

[k & o.kksZ ds leqg dks o.kZekyk dgrs gSA 

Xk & fgUnh esa o.kZ ds nks izdkj gS Loj O;tauA 

?k & o.kZekyk esa d ds ckn ?k vkrk gSA 

M & fgUnh o.kZekyk esa 33 O;tau gksrs gSA 

iz&2 fp= ns[kdj igyk v{kj fy[kks& 

 &&Nyh                   2& &&rax 

 



3& &&rkc                  4 &  &&xwj 

iz&3 uhps [kkyh LFkkuksa ij lgh Loj fyf[k,& 

v    b    m    _      sssSSSSS SS SS SSSS 

 

O;kdj.k & opu cnyks 

Dk;Z&if=dk 

iz&1 lgh feyku dhft,& 

d & yMdk                   xeys 

[k & rkyk                    cLrsa 

Xk & pwgk                     isaflysa 

?k & cLrk                    pwgs 

M & xeyk                  rkys 

Pk & isafly                  yMdsa 

iz&2 fuEufyf[kr “kCnksa ds vkxs fyf[k, fd og opu dk dkSu lk Hksn gSA 

d & twrk &                 (,dopu / cgqopu) 

[k & ?kfM;Wk &               (cgqopu / ,dopu) 

Xk & diMs &                 (,dopu / cgqopu) 

?k & frryh &                (cgqopu / ,dopu) 

M & rkjs &                   (,dopu / cgqopu) 

Pk & fMCck &                 (cgqopu / ,dopu) 

iz&3 lgh “kCn pqudj fjDr LFkku Hkfj,& 



d & ckfj”k esa &&&&&&xhys gks tkrs gSA       ( diMk / diMs ) 

[k & &&&&& ij vke yxs gSA               ( isM /  isMks )                                                

Xk & esjh cgu ds ikl nks &&&&&& gSA       ( ?kfM;kW /  ?kMh )                                                                     

?k & eq>s &&&&&&& vPNh yxrh gSA        ( frryh /  frrfy;kW ) 

M & esjs ikl nks &&&&& gSA                (vkW[k / vkW[ks) 

iz & 4 xfrfof/k & [kkstchu 

vius ?kj dh fdUgh nl ,slh oLrqvks ds ckjs esa crkb, tks la[;k esa ,d ls vf/kd gSA 

 

 

O;kdj.k & Hkk’kk 

dk;Z&if=dk 

iz & 1 lgh vFkok xyr dk fu”kku yxkb, &  

d & Hkk’kk dk dsoy ,d gh :Ik gSA  

[k & jsfM;ksa ekSf[kd Hkk’kk dk mnkgj.k gSaA  

x & ge i= nokjk fy[kdj  viuh ckr nwljks ard igqWpkrs gSA  

?k & VsyhQksu djrs le; ge viuh ckr nwljks ard fy[kdj igqWpkrs gSA  

M & ge cksydj viuh ckr nwljks ard igqWpk ldrs gSA  

iz & 2 [kkyh txg es algh “kCn fyf[k,A  

d & Hkk’kk ds &&&&&& :Ik gSA  

[k & i= fy[kuk Hkk’kk dk &&&&&& :Ik gSaA  

Xk & Hkk’kk ds fy[kus ds <ax dks &&&&&&&&& dgrsa gSA  

?k & usrk th Hkk’k.k nas jgs gS &&&&&&&&&Hkk’kk dk mnkgj.k gSA  

iz & 3 fp= ns[kdj Hkk’kk ds :I fyf[k,A 
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